RESOLUTION NO. 00-07-30

A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF MARATHON, FLORIDA, APROVING CIVIL ENGINEERING INSPECTION SERVICES FOR THE CITY OF MARATHON; AND AUTHORIZING THE MAYOR TO EXECUTE SAID AGREEMENT; AND PROVIDING AN EFFECTIVE DATE.

WHEREAS, The City of Marathon desires to utilize the services of Calvin, Giordano & Associates, Inc. to conduct field visit on all public roads, street lights, buildings, bike paths, parks and all other public facilities identified within the City of Marathon that can be transferred from Monroe county to the City; and

WHEREAS, to insure a thorough evaluation the field visits will include and inventory,

a visual inspection and an analysis of the condition of the facilities; and

WHEREAS, The City shall use this report to determine transfer costs for the interlocal

agreement and will also be used for the City Comprehensive Plan.

NOW THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF MARATHON, FLORIDA, AS FOLLOWS:

<u>Section 1</u>. <u>Recitals</u>. The above recitals are true and correct and are incorporated herein by this reference.

Section 2. The Mayor is authorized to execute said agreement.

Section 3. Effective Date. This Resolution shall become effective immediately upon its adoption.

PASSED AND ADOPTED this 23rd day of May, 2000.

ROBERT MILLER, MAYOR

ATTEST: ANTOINETTE DOMJANICH, CITY CLERK

APPROVED AS TO LEGAL SUFFICIENCY

CITY ATTORNEY



Calvin, Giordano & Associates, Inc.

Engineers Surveyors Planners

JUN 2 0 2000

May 18, 2000

Mr. Craig Wrathell, City Manager City of Marathon c/o Moyer & Associates 210 N. University Drive, Suite 301 Coral Springs, FL 33071

RE: Marathon Civil Engineering Inspection Services – Public Rights of Way, Parks and Building Facilities CG&A Project No. 00-1032R

Dear Craig:

We are pleased to submit this proposal for Professional Civil Engineering Services for the City of Marathon. This proposal includes the following detailed description of services:

I. SCOPE OF SERVICES

Calvin, Giordano & Associates, Inc. will field visit all public roads, street lights, buildings, bike paths, parks and all other public facilities identified within the City of Marathon that can be transferred from Monroe County to the City of Marathon.

The field visits will include an inventory, a visual inspection and an analysis of the condition of the facilities. If the facility is found to be substandard an improvement plan will be prepared that will detail improvements that need to be made and the associated costs.

A report will be issued within forty-five (45) days of authorization of this proposal. This report shall be used to determine transfer costs for the interlocal agreement and will also be used for the City Comprehensive Plan.

II. BASIS OF COMPENSATION

Compensation for the referenced work will be on a lump sum basis with the lump sum fee being \$43,056.00 based on the above scope. A detailed breakdown is provided as follows:

, Reply to:

X 1800 Ellex Drive Suite 600 P.O. Box 13141 Fort Lauderdale, Florida 33316 (954) 921-7781 (954) 921-8807 fax

400 South Australian Avenue
Suite 855
West Pain Beach, Florida 33401
(561) 835-0052
(561) 835-0076 fax

SCHEDULE OF FEES			
ACTIVITY/PERSONNEL	HOURS	RATE	TOTAL
Onsite Inspection	160	\$65	\$10,400.00
Quantify Inspection Results	80	\$ 65	\$5,200.00
Prepare Cost Estimate	120	\$80	\$9,600.00
Prepare Exhibits	80	\$ 75	\$6,000.00
Clerical	80	\$ 45	\$3,600.00
Associate/Review/Quality Control	24	\$ 110	\$2,6 40.00
Subtotal:			\$37,440.00
Miscellaneous Expenses @ 15%			\$5,616.00
GRAND TOTAL:	11		\$43,056.00

Ш. APPROVAL

CALVIN, GIORDANO & ASSOCIATES, INC. Submitted by: Dennis J. Giordano, President

CITY OF MARATHON Date: July 12,00 Approved by